o M-191142 |

e 11 a1 v, 2018—19

BIOLOGY
SICRCEIN]

(Hindi and Engf."sh Version)
[Tot'a‘l No. of Printed Pages: 08]
[Maximum Marks: 70}

[Total No. of Quesiions: 19]
Mime: 03 Hours]
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Instructions:
(1) Al questions are compulsory,

(2) Q.N.1to4are objective type questions. Each question carry 5 marks.
(3) Q. N. 5 to 8 each question carry 2 marks, word limit max 30 words.
(4) Q.N.9to12 each question carry 3 marks, word limit max 75 words.
(5) Q. N. 131017 each question carry 4 marks, word limit max. 120
words. -
(6) Q.N.18to 19 each question carry 5 marks, word limit max. 150 words:
(7) Draw neat diagram where necessary, - m .
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Choose the correct zinswe; - .
(i) The smallest unit of nomenclature 15 . : o
(a) Family (b)  Species

(€} Order

(11) Roots develops from -
(a) Radicle
() Cotyledon"

(d),. Class

{b) . plumule

- {d)  Coleoptile
(1ii) Quantasomes are Present. ip - : '

(a) Mitochondria

(b) 3 Chloroplas
() -+ Ribosome

- (©) Lysosome
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(b) st_ﬁ‘,fﬂ

(iv) Guttation process occurs th
(a) stomata

(c) Hydathodes
{ found in bile jujce i -
(b) L’ipa‘se

@ gGlycolate

(v) Green colour pigmen
(a) Bilirubin
(c) Biliverdin
- e ooy
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Write the answer in one ward -

Write thf: name of connecting link between plants and anlmalq

(i), Whlch is the water conducting tissue in plants?

(1ii) Nle name of Purine base which 1s found only m DNA

(iv) What,he effect of temperature on flowering known as?

(v) Name thedisease of the eye caused by deficiency of vitamin A.

_yﬂiﬂ S Pt %ﬁqﬁgﬁ _ (1x5=5)
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(v) SA-Ar " “(e_) PSS
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Match the column -

(A) (B)
(i) Agar - agar (a) Cytokinesis
" (ii) Cartilage (b)  Kranz - anatomy
(i1)) Division of cytoplasm (©) Pacemaker
(iv) Cq ﬁlants ((i] (;élidium )
(v) SA'T Node (¢) Chondrocytes
oRm e AR - (1x5=5)
() RRRET BV W A v A Ry
(i) @Eq qa ... A ol a2 |
(i) e = & ... SR < . &
--(iv) AT IRR H 9 S el T BIET AR s E =
“Fill in the blanks - ' | o
(i) Starfish has-been placed in the phyiﬁm ............
(ii) Respiratory roots are found m
(iii) Kreb’s cycleis completed in......ooovieiiiiainn, ’
(iv) Smallest bone of human body IS ieceeieiiinnaaee
(v) Lungs of man are situated jn........coi..: Cavity
95 W(‘F‘ﬁﬁ)aﬁmawwl @
Write any two characteristics of fungt.
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[efine oviparous, Give one example, ‘

ue arfta, aon am nd B 2 Q)
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What is annual ring”? _
L / Oofs

erseifiy i A7 -

s Tyloses?
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Write lhc differences between Apoenzyme and Holoenzyme.
Jgar /On
Wizt vd vl e w1 advafrifae i nem 7 70 P
Mitochondria and chloroplast are known as semi autonomous cell organelles? Why.
}z/ e M 9 Uud wip e faed # gonenan? Aad faar 2, 335 $E 3 FhE 09 @
AT @A #7 ' ' @

A farmer adds Azotobacter culture o 50 before sowing maize. Which mineral element

is being replenished? |
Fgqi / OR

v @ dra w1 e q 1 AWY | 7

Potted plants must not be kcpt'in the bedroom at pight. Why?
YA i @ e @ & 7 a8

Why lysosomes are called as “suicidal - bags’)

| Joar / OR

ez o i o e @k 2 v

Draw a labelled diagram of Nucleus. Write M ) functions of it
Page 5 ol{g
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Crick. (with only two labelling)
| fWaISC’“ ck. (wi Y g
Draw DNA model © _

diar / OR

O A g FT ﬁ"m'
Write the wniary-suuém_'ﬂ of Protein, .
//1 WWW‘TWmml -

Write the digestion of prqtbin ifl'a|im€ntary canal.

: _. §Wmiok |
o # CO, @ R @ AR el

Write the methods of CO3 transportation in bld_cjd.

505 e @ Aftri 4 B A o Ry, L

Write any three differences between pectoral girdle and pelvic gfrdie.

3eFa1 / OR

. <
UG v oo ¥ B A e foRed
Write any three differences Iiénveén rods and-cones. .

713 Rrrad 3 AR T P | .

Write any four main charac"ter;s of Gymnosperm.
gl OR
T 9 % e Hﬂww!

Write any four maip Characters oﬁ hylum Arlhropoda

)

@)
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Write floral formula and floral diagram of Pea.
Srorat / OR
e v et B o e T T &
Why Xylem and Phloem are known as -comp-]éic tissue?
— .
“Erelia qeRn Sroe e garen AR A %l TH DY B AHATSY |
Explain the statement “Telophase is reverse (_’f p{ophase’-'.
| SIOTdT / OR
g T o oo 3 o BRI @A .
Mrite the differences between tnitosis and meiqsis cell division. (Any four)
.16 q‘tﬁzﬁqaﬁ@a?maﬁﬁﬁmﬁﬁ?%ﬁm
Write the méchanism of opening énd closing of stomata.
| -3l /OR
w9 aRee Bt ARG o g wAaArEd |
EKPlain Munch Hypothesis Wifh-labellcd diagram,
%mewﬁmmmm,
o Write any f-_:)l._lr differences between aerobic anq anaerobic respiration.
LD AT e gy i o TR

Draw well labelleq diagram of T. S. of Spinal cord.
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ta
Write the differences bﬂ“"’em P root and adv entitious root.

QT / OR
e Y 3 el foARE | T "?’%%ﬁﬂmﬁaﬂhaﬂm;
- \_ﬁ- ] -
~ -Write the é_fi_nin'qjl].of inﬂOl'e?féH.CeilExplajn its types.
5 e 71 Y T

- ‘Draw the ray - diagram of E_IYCOIB'SiS.

©)

| 991 / OR
I U I BRIGRPIRATT ¥ iy ffad |
W - . - ! . . . N
rite the differences between czchc and non - cyclic photophosphorylation,

w -

e e
---------------
----------

742]

ge8of®



